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In general : use RHR to figure out correct orientation .

But in these special cases : bounding
curves
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two important identities : Tx Tf -- J always
D. txt) -- o always .

'

g =D . Gx F) = t.ly ,
-x.e) =L

This is a contradiction
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so such an F cannot exist
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Anotherinterpnetation:
First let's consider a diff question . . .
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T / what's the boundary
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boundary
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lie . endpoints ) of this
curve ?

of curve .
it has no boundary .
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If the problem had instead been

1¥ is

then the Stokes method would still work and concludethe

integral is 0 , but the divergence -1hm.no/on-ger
words .


